(437)

(217)

o)

a8 ) 8) 8 ) ) ol ) ) ) 01 001

°]

o
Ji A4 \ [ A4 A4 A4 A4 A4 A4 A4 N\ L A4 \
L 11 11 11 11 Ll 11 11 Ll 11 L 11 1

L
I

\ [ A4 A4
1l 1l 1l

© ® ©
™\
(e}
& \
O ® \Tl g
® -® ‘
%

< Accessories >

Polycarbonate clear 4 pcs.

Cross recessed binding head M5x15 Ep—-Fe/Zn/CM black 4 pcs.
Plain Washers 5x12x1

XLR Connector Panel

@
N
A
482.6 -
~ (424)
o
A y '$ 1 2 3 4 5 6 78 9 10 1 2 1B 14 15 16 )
Ao = = = = = = = = = =@ = = = = = =
s
o |~
\ Pan Y
\ e
4-10x7
8 | Label A-NP30 1 | Aluminum tape
7 | XLR type CN XJ3M-P3FA 16 | CANARE /Cross pan head M2.5x8 SUS
6 | XLR type CN XJ3F-P3MA 16 | CANARE /Cross pan head M2.5x8 SUS
5 | Card Rail M-DSRO02 2 | Alloy Steel (black) /A-SM25N (Cross countersunk head M2.5x6)
Card Cover M-DSC02 2 | PS (clear)
Card M-DSKO05 2 | 420x8.4 t0.2 1-16printed
4 | Mounting Panel M-MA2U01 2 | Alloy Steel (black) t2.3 /Cross binding head M4x8 Fe/Zn/CM (black)
3 | Tie Bar M-TBO1 1 | SS400 ¢ 8 (black) /Cross countersunk head M3x6 Fe/Zn/CM (black)
2 | Side Panel M-SP2U01 2 | Alloy Steel (black) t1.2
1 | Connector Panel | M-CP2UXO01 1 | Alloy Steel (black) t1.2 /Cross countersunk head M3x5 Fe/Ni TITLE  Pre-loaded
ITEM | DESCRIPTION P/N QTY. | REMARKS for Audio

PJTN

A

AN

MODEL

162U-X21

DRW .No.

LLO12E

UNIT[scALE [ToL DATE Ver 1.8
mm| 1:3 — 2017-09-20
E49NAAFE




